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10.
11.
12.

Instructions for the Candidates
Write your Hall Ticket Number in the space provided on the top
of this page.
This paper consists of fifty multiple-choice type of questions.
At the commencement of examination, the question booklet will
be given to you. Inthe first 5 minutes, you are requested to open
the booklet and compulsorily examine it as below :

(i) Tohave access to the Question Booklet, tear off the paper
seal on the edge of this cover page. Do not accept a booklet
without sticker-seal and do not accept an open booklet.
Tally the number of pages and number of questions in
the booklet with the information printed on the cover
page. Faulty booklets due to pages/questions missing
or duplicate or not in serial order or any other
discrepancy should be got replaced immediately by a
correct booklet from the invigilator within the period
of 5 minutes. Afterwards, neither the Question Booklet
will be replaced nor any extra time will be given.

After this verification is over, the Test Booklet Number
should be entered in the OMR Sheet and the OMR Sheet
Number should be entered on this Test Booklet.

Each item has four alternative responses marked (A), (B), (C)
and (D). You have to darken the circle as indicated below on the
correct response against each item.

Example: @ . @

where (C) is the correct response.

(i)

(iii)

Your responses to the items are to be indicated in the OMR Answer
Sheet given to you. If you mark at any place other than in the
circle inthe Answer Sheet, it will not be evaluated.

Read instructions given inside carefully.

Rough Work is to be done in the end of this booklet.

If you write your name or put any mark on any part of the OMR
Answer Sheet, except for the space allotted for the relevant
entries, which may disclose your identity, you will render yourself
liable to disqualification.

The candidate must handover the OMR Answer Sheet to the
invigilators at the end of the examination compulsorily and
must not carry it with you outside the Examination Hall. The
candidate is allowed to take away the carbon copy of OMR
Sheet and used Question paper booklet at the end of the
examination.

Use only Blue/Black Ball point pen.

Use of any calculator or log table etc., is prohibited.
There is no negative marks for incorrect answers.
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1.

2.
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Paper-Ii
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Basel Norms are related to
(A) Banking Sector

(B) Insurance Sector

(C) Education Sector

(D) Health Sector

Assertion (A) : ‘Investors are reluctant to
purchase Government Businesses'.

Reason (R) : ‘Governments usually sell
least Profitable Businesses'.

(A) Both A and R are true, and R is the
correct explanation of A

(B) Aistrue but R is false
(C) Both A and R are false
(D) Ais false and R is true

Match the following economic systems:
A B
a. Capitalism 1. Managers
are rewarded
on the basis of

ability
b. Socialism 2. Profits are
recognized
c. Communalism 3. No depreciation is
permitted
d. Mixed Economy 4. Both Public
and Private
Sectors exist
a b c d
(A 2 1 3 4
B 4 2 3 1
<) 1 2 3 4
(D) 3 4 2 1

1. 5208 52 XD T8 $5023000I58

(A) ergodomd Sonon
(B) dsrsons
(C) ogorsno
(D) esGrgoniin

2. BT (A) 1 SoSoToey (Deds

TGO S0 €508 BB,
serRoen (R) @ pedores Ipedeon o
)5 CETNI) TUT VR K0 0T

(A) A 200ao R Bocr 00asd, R A ©

5BCD e

(B) A 5003002 522 R 00a089 5°¢H

(C) A 508010 R Bodir 00300 %)

(D) A 206258 5965 R 206058

. S8 OO0 e§§§ XJCS@J@JE@J OGN

A B
a. 2epadTossin 1. IRog shwed
DTG
2TOEOTED

b. e Dt 2. rereiso MO

C. S50rgsde0 3. BKERO
290000V

d. oo e85y 4. @3@3, RehBEomed
OO 60L3P000

a b c d

A 2 1 3 4

B 4 2 3 1

(C) 1 2 3 4

(D) 3 4 2 1
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4. |dentify the sequence of passing of the

following enactments

a. Indian Contract Act

b. Indian Partnership Act

c. General Insurance Act

d. Sale of Goods Act

(A) a,b,c,d (B) c,d,a,b
(C) a,c,d,b (D) d,b,a,c

5. VAT is introduced to replace
a. Sales Tax and Customs Duty
b. Octroi and Customs Duty
c. Excise Duty and Customs Duty
d. Sales Tax only
(A) aandb
(C) a,b,candd

(B) a,bandc
(D) donly

6. Statement-1 : Cash Flow Statement
takes into consideration only the changes

in cash position.

Statement-2 : Funds Flow Statement
considers the changes in Working Capital
position between two Balance Sheet
Dates.

(A) Both S1 and S2 are True

(B) S1istrue and S2 is false

(C) Both S1 and S2 are false

(D) S1 is false and S2 is true

Il *x
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(B) c,d,a,b
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7. Assertion (A) : Business entity concept

stipulates that ownership is independent

of management.

Reason (R) : Accounting concepts are
based on subjectivity.

(A) Both A and R are correct

(B) Both A and R are false

(C) Aliscorrect and R is false

(D) Ris correct and A is false

. Venture capital investment refers to

(a) Seed Financing

(b) Risk Capital

(c) Smart Capital

(d) Joint Venture Capital

(A) (a) and (b) are correct

(B) (a) and (d) are correct

(C) (a), (b) and (c) are correct

(D) All the above are correct

I *x
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9.

10.

11.

Il *x

P, Q and R were partners sharing Profits

and Losses in the ratio of 2:2:1. P retires,
and Q and R purchase shares of P by
paying Rs. 30,000 and Rs. 40,000

respectively. The new profit sharing ratio of

QandRis
(A) 4:3 (B) 2:1
(C) 34 (D) 1:2

Good Luck Company issues 7%

Preference Shares of Rs.100 each at a
premium of Rs.10 redeemable after

10 years at par. What is the Kp?
(A) 6.72%
(B) 7.62%
(C) 6.27%

(D) 7.72%

A firm has operating profit of Rs. 50,000.
The cost of capital of such type of company
in the market is 12.5%. What is the value

of the firm ?

(A) Rs.5 lakhs
(B) Rs.6 lakhs
(C) Rs. 4 lakhs

(D) Rs.7 lakhs

9.

10.

11.

AR

D, %5, esben 2:2:1. IPYS” wrgren Do

EPRQR0. 2 DSH0ed WOKTP 877, esbeo 2 T

25807 63.30,000 &5, 40,000 0 Sy, 5%
esbo S8 oraf Safes D080 A

(A) 4:3 (B) 2:1

(C) 34 (D) 1:2

&S 5002 10 Dol BSS JATBSH8K
7 7%0 63100 © ©R5y Ferosy 610
20005 &6 DROA. K, o 2

(A) 6.72%

(B) 7.62%

(C) 6.27%

(D) 7.72%

2.5 0% & 50,000 eS5083000 ere¥o &0d.
025063 TET°AS 578,608 BoredEBeio

12.53°%0 s 0 ek Jo ?
(A) &>.5 oFen
(B) &. 6 ogen
(C) &». 4 o5

(D) &5.7 oo
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12. Match the following concepts of Capital
Structure:
List-1 List-2
1. NI Approach  a. Concept relevant to
Capital Structure

2. NOI Approach b.MV of firmis
not affected by

Leverage
3. Traditional c. Neutral to
Approach NOI and NI

4. MM Hypothesis d. Deals with Arbitrage

process
(A) 1-d, 2-¢c, 3-b, 4-a
(B) 1-a, 2-b, 3-c, 4-d
(C) 1-a, 2-¢, 3-d, 4-b
(D) 1-b, 2-¢c, 3-a, 4-d

13. The opportunity cost of retained eamings is

(A) The Rate of Return the Debenture-
holder gains from his investment

(B) The Cost of Capital, the Shareholder
gains from his equity

(C) The Rate of Return the Shareholder
foregoes by not putting his funds

elsewhere

(D) None of the above
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14. Discounted Cash Flow techniques are
related to
(A) Calculation of present value of future
cash flows
(B) Calculation of discounted value of
present investments
(C) Calculation of present value of

debenture capital

(D) All of the above are correct

15. Broad Money refers to
(A) M1 (B) M2

(C) M3 (D) M4

16. When the price is less than AVC, at the
profit maximizing level of output, a firm

should

(A) Produce where MC=MR if it is
operating in the short run

(B) Produce where MR=MC if it is
operating in the long run

(C) Shut down since it will lose nothing
in that case

(D) Shut down since it cannot cover even

its variable costs if it stays in the

business

Il *x
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17.

18.

19.

Obsolescence of a depreciable asset may
be caused by

a. Technological changes

b. Improvement in production method

c. Change in market demand for the
product or service output

d. Legal or other restrictions
(A) Only (a) above
(B) Both aandb are true
(C) All the above are true
(D) Only d above is true

Assertion (A) : Total utility will be
maximum when marginal utility to price of
respective products is equal.

Reason (R): Deviation from this situation
leads to reduction in maximum utility.

(A) Both A and R are not correct
(B) Ais correct but R is not correct
(C) Both A and R are correct

(D) Alis incorrect but R is correct

Match the following :

List-1 List-2
1. Sweezy a. Game theory
2. Newmann and b. Sales
Morgenstern maximisation
model
3. Baumal c. Kinked demand
curve model
4. Cournal d. Duopoly model
(A) 1-d, 2-¢c, 3-a, 4-b,
(B) 1-a, 2-b, 3-c, 4-d,
(C) 1-c, 2-a, 3-b, 4-d,
(D) 1-b, 2-d, 3-¢c, 4-a,

I *x
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20.

21.

22,
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The major advantage of a Probability
Sample compared with a non-probability
sample is that

(A) It savestime
(B) ltcostsless
(C) It prevents destructive sampling

(D) Sampling error can be estimated

Assertion (A) : Measure of association is
needed in addition to P-value for a
statistical test.

Reason (R) : The P-value only specifies
the relativity of the effect.

(A) Both A and R are true and R is the
correct explanation for A

(B) Both A and R are true
(C) Aistrue but R is false
(D) Ais false but R is true

Match the following :
A B

1. One-way ANOVA a. MSA/MSW
2. Two-way ANOVA b. (r-1) (c-1)
3. t-test extension c. ANOVA
4. Among the group d. Treatment
in ANOVA affects
e. Standard
deviation
(A) 1-a 2-c 3-e 4-b
(B) 1-d 2-a 3-b 4-e
C) 1c 2-b 3-a 4-d
(D) 1-a 2-b 3-c 4-d
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(A) 1-a 2-c 3-e 4-b

(B) 1-d 2-a 3-b 4-e

C) 1c 2-b 3-a 4-d

(D) 1-a 2-b 3¢ 4-d
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23. The path to see the Cash Book in Tally is

(A) Gateway of Taly —»Transactions —»

Reports —» Cash Book

(B) Gateway of Tally — Accounts info—
Display cash book

(C) Gateway of Tally — Display —
Account books — cash book

(D) Gateway of Tally —» Reports —»
Display — Account books —

Cash Book

24. By default Tally creates
(A) Sales a/c and Purchases a/c
(B) Capital a/c and Opening stock a/c
(C) Casha/lcand P &L a/c

(D) Capital a/c and Depreciation a/c

25. In which of the following types of controls,
the source of an unsatisfactory outcome
is traced back to the individuals
responsible for it, so that they can correct
it?

(A) Direct Control
(B) Preventive Control
(C) Strategic Control

(D) Management Control
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26.

27.

Physiological needs of a person are

related to
(i) Welfare
(ii) Survival
(iif) Recognition
(iv) Intimacy with family
(A) (i) and (ii)
(B) (i) only
(C) (ii) and (iii)
(D) (ii) and (iv)
Assertion(A): Money is a good motivator

at work.

Reason (R) : Raju was punished for poor
performance, thus lost his incentives.

Codes :
(A) Ais wrong, R is correct
(B) A and R are correct
(C) Aand R are wrong

(D) Ais correct, R is wrong

28. Which of the following sub systems are an

Il *x

integral part of the MBO Process ?
(i) Manpower Planning
(i) Compensation
(i) Appraisal
(iv) Coordination
(A) (i) and (ii)
(C) (ii) and (iii)

(B) (i) and (iii)
(D) (i), (ii) and (i)

26.
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28.
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29. Match the following : 20. 23555555535 :

List-1 List-2
e -1 S — 2
a. Henry Fayol 1. Scientific
Management a. 3?@ 2 1. ?"?_301) QTG
b. F.W.Tayl 2. Principl f
ayier rincipies o b. I9.cies. ot 2. ESTET @D
Management
c. Max Weber 3. Hierarchy of c. 57§20 3. G0 SEORY
Needs d. ooy 4. éd@éﬁc‘g%@oéo
d. Abraham Maslow 4. Interaction
theory e. &0 0k 5. elSgiog OBt
e. George Homans 5. Bureaucracy a b c d e
a b ¢ d e (A) 4 2 1 5 3
(A) 4 2 1 5 3 B) 1 3 2 5 4
B) 1 3 2 5 4 (C) 3 1 2 4 5
(C) 3 1 2 4 5 (D) 2 1 5 3 4

(D) 2 1 5 3 4
30. 253968 29 D2 HXoo, PHTredEined” md), &

30. Comparing an individual’s job

. 568 283 ofoDedS QT OS T POEIPIER
performance against standards or ®

objectives developed for the individual's (A) 265 558053 @05

position is known as

B) Soreros e
(A) Job Appraisal (B) sSorergoss eo

(B) Evaluation (C) 5558 5200 @0tosd
(C) Performance Appraisal

(D) e=med @953 eocsodh
(D) Job Development




31. Which of the following steps are usually

ignored by the Management in training ?
(i) Motivation
(ii) Stimulus
(iii) Response
(iv) Reinforcement
(A) (i), (i) and (iii)
(B) (ii), (iii) and (iv)
(C) (i) and (iv)
(D) (ii) and (iv)
32. Assertion (A) : Experienced staff do not

require training.

Reason (R) : When Trainees are attached

to Senior Workers it is called
Apprenticeship training.

(A) Ais correct, R is wrong

(B) Aiswrong, R is correct

(C) Both A and R are correct

(D) Both A and R are wrong

31. 350" Qe TEnom Be QD O
D500 BEG DI 2
(i) (o8
(i) (G0O8s80
(iii) esrex
(iv) 2om5EH0e
(A) (i), (ii) 55805 (iii)
(B) (ii), (iii) So6050 (iv)
(C) (i) So80%s (iv)
(D) (ii) So80» (iv)
32. Jyparos (A) 1 eoo SORD beods 33e

95580 8¢

soGere (R) : 350 edogidoro %(S%KJG) OB
DR T BR0LIVDE BEE O

(A) A 2863056 R 560056 576

(B) A 20663056 5°¢5 R 500058

(C) A SoBon R B 03

(D) A 500050 R 3o 500059 559



33. Match the following: 33. 23BN :

List-1 (Year)  List-2 wdoe -1 (Sonde)  wdo -2

1. 1907 a. Factory Labour
o 1. 1907 a. STPTS @0 S0
Commission
2. 1860 b. Employer’s 2. 1860 b. oessiordoen, @rosoe
and Workmen’s Act g0
3. 1890 c. The Bombay 3. 1890 C. 2rod Doy ok
Mill Hands
eIPDANS
Association
4, 1922 d. Social Service 4. 1922 d. erodd” 356 5059 Of

League in Bombay (A) 1-b 2-c 3-d 4-a

(A) 1-b, 2-c, 3-d, 4-a (B) 1-a 2-b 3-¢ 4-d

(B) 1-a, 2-b, 3-c, 4-d
(C) 1-a 2-b 3-d 4-c
(C) 1-a, 2-b, 3-d, 4-c

(D) 1-d, 2-c, 3-a, 4-b (D) 1-d 2-¢c 3-a 4-b

34. The Balance Sheet of a Banking 34. 2“§w50§om§og>be@@éy@mé@sgoahmﬁ)

Company contains Schedules. do8g

(A) 16 (A) 16
(B) 12 (B) 12
(€) 9 C) 9

(D) 11

(D) 11



35. Which of the following is/are not the
function(s) of RBI ?
(i) Issue of Currency
(if) Control of Credit
(iii) Supervision of Banking
(iv) Regulation of Banking
(v) Banker's Bank
Codes :
(A) (i), (ii), (iii) and (iv)
(B) (ii), (iii) and (iv)
(C) Only (v)
(D) (i), (i) and (iii)
36. Assertion (A) : Banks have control over

a large part of the supply of money in

circulation.

Reason (R): Banks cannot influence the
nature and character of production in the

country.
Codes :
(A) Both A and R are true

(B) Ais true but R is false and it is not

correct explanation of A

(C) Ristrue but Ais false

(D) Both A and R are false

Il *x

35. 52 &S IS 8/ DD e86.8.9. DG ¢ 9
(i) 50yexd
(i) 56598 dadoes
(iii) ergodord SOREE
(iv) ergodom E5oaistes
(V) erostho erp
(A) (i), (i) (i) So80x0 (iv)
(B) (i), (iii) 06050 (iv)
(C) (v) 5o
(D) (i), (ii) So60%0 (iii)
36. 23ETrEgo (A) 1 eoeds’ ot LY g (¢

D000 P &0 JoXoEEs 6080

525220 (R) @ B5508° &S 25890, MHETedo
2RO (DETBHO WOLBE
(A) A 5080%0 R Qo> 580300
(B) A 50c006 R, A doo), $06300 J50e
9%, R 08c58 s2¢H
(C) R 20030056 A 8803008 5960

(D) A 500050 R 3o 500059 559

A-03-02



37. Match the following : 37. 2353808050

A B A B

Name of the Bank Merged into oo 5.5 A Nedod

a. Global Trust Bank 1. Oriental Bank of
a. Fod @iy 1. L0abowderos
Commerce
Qﬁq’:—) Té&d&o
b. National Bank 2. SBI

b. @ﬁ@éé{ééaf@oé 2. D.89.m.

of Lahore

c. Sangli Bank 3. ICICI C. Sof er50% 3. 20

d. American 4. Standard d. 50083 4. Joocsts
Express Bank Chartered Bank NNESESES TR e

a b ¢ d a b ¢ d

A 1 2 3 4 A 1 2 3 4

® 1 3 2 4 ® 1 3 2 4

¢ 3 1 2 4 C 3 1 2 4

Gy 2 4 1 3 D 2 4 1 3

38. Structural Adjustment facility is provided 38, TS SXiEr SRR SOROIE

by

(A) IBRD
(A) IBRD
8 MF (B) IMF
(C) WTO (C) WTO
(D) ADB (D) ADB




39. Match the following :

Part-A Part-B
a. Invisible Account 1. Loans
b. Visible Account 2. Exported
Goods
c. Official 3. Dividends
d. Current Account 4. Transfer
Payments
a b ¢ d
A1 38 2 4
B 2 3 1 4
@ 3 2 1 4
D 4 3 1 2

40. Export Promotion Industrial Parks Scheme

was introduced in
(A) August 1984
(B) August 1994
(C) July 1995

(D) August 1995

41. Assertion (A) : Dumping is selling a

product in a foreign market at a lower price
than in the home market.

Reason (R) : Dumping encourages
domestic industry.

(A) Both A and R are true

(B) Both A and R are false
(C)
)

(D) Ais false and R is true

A is true but R is false

Il *x
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39. 23BIBWRW

TS -A 53 -B

a. £3000% o 1. eooeTen

b. &odboto T ot 2. AHD0Y DD

DB

C. @85°0 ) POgEW0 3. &Z)&ocfg

d. 3ot e 4. 269 5@0@@0
a b ¢ d

A 1 3 2 4

B 2 3 1 4

©c 3 2 1 4

o)y 4 3 1 2

40. 20508 FayE FOEIE T HEE50

B350
(A) ey 1984
(B) ey 1994
(C) == 1995

(D) esity 1995

41. 205E00(A) : ool el M $370),e08"

503 JDF DIV EnoE” BEYS SEH BHOD
@Eﬁooééo
so5easo0 (R) @ Eodord DI HDOESS
ORIV OO OIS

(A) A 508050 R Do $8a300
(B) A 50800 R Do 88300 599
(C) A 0658 R 35863008 5°¢H
)

(D) A 80056 ¢ R 000056

A-03-02



42. Miss X buys the same brands of coffee, | 4o @m@ 5y 23 (erocs, =5, oo, BRI,

milk,cereal and dog food. This type of
08, &80 S'ot00d. 5 R0 Siof'es BTy
buying behaviour is called
. - _ (A) Eer 38 DSBS 903280
(A) Routine Decision Making ® @
. - . (B) B AFod 95 90ty
(B) Extensive Decision Making ® @

. . . (C) 58208 BT DS 90D
(C) Limited Decision Making s =

D) 5828 den &0
(D) Situation Convenience (D) >

43. Match the following: 43. wBITR0
A B A B
1. Penetration Price a. Selling at 1. 200 $8 PR 8. TPgson HED
Strategy relatively low 5 @0
price

2. 006 SEPrgT0 b. o 250
2. Skimming Price  b. Selling Product

Strategy at relatively OS> e
high price 3. 20 GO PGIHn €. B0 e
3. Rip-off Price c. Selling low SISPE)RUINES I
Strategy quality product 555 0
at high price

4. 560965 g0 A o 06 5%
4. Discount Price d. Selling below
BT @500
Strategy its list price
(A) 1-a 2-b 3-c 4-d
(A) 1-a, 2-b, 3-c, 4-d
(B) 1-b 2-d 3-c 4-a
(B) 1-b, 2-d, 3-c, 4-a
(C) 1-d 2-c 3b 4-a
(C) 1-d, 2-c, 3-b, 4-a
(D) 1-c 2-b 3-d 4-a
(D) 1-c, 2-b, 3-d, 4-a

[ ¢ 19 A-03-02



44.

Match the following :
A B

1. Reduce to level needed a. Maturity

to retail hardcore loyals

2. Build awareness and b. Decline

interest among masses

3. Build product awareness c.Introduction

among early adopters

and dealers

4. Stress brand differences d. Growth

45.

Il *x

and benefits

(A) 1-d, 2-b, 3-¢c, 4-a
(B) 1-c, 2-b, 3-a, 4d
(C) 1-a, 2-b, 3-d, 4-c
(D) 1-a, 2-d, 3-c, 4-b

Assertion-(A) : Selling Gillette Mach 3
Turbo Shaving System with Gillette
Shaving Gel and Selling  City Bank
Jet Airways Credit Cards was successful.

Reason-(R) : Through same company
co-branding and joint venture
co-branding products can be
repositioned.
(A) Both A and R are true, but R is not
the correct explanation of A
(B) Both A and R are true, but R is the
correct explanation of A

(C) Both A and R are false
(D) Aistrue but R is false

20

44. 2359555050
A B

1. Dot 88w JTde A, BONKH
@éédigooﬁ BRoWE

2. (2508 BOALLV b. &mSoogihon
€518 Hynetotd

3. Doy 9o C. HBBAKBD
EotHoH 55y A8
8853500 $ORoOe

4. erocsd DTV, TPETe0 d. 93
SEe
(A) 1-d 2-b 3-c 4-a

) -
B) 1-c 2-b B3-a 4d
(C)1-a 2-b 3d 4-c
(D) 1-a 2-d 3¢ 4-b

45. D3yErsino-A 1880 5358 L8] 2dord 5E3D,
206 A0 BT ; 263 g0 865 Jab3S
B0 @9800,50 eseDBOBO 0008

S0easoo-R 1 oD 502 § erodord oo,
G TS S EPodorDd TR SKYeo SO
SRSELRECTINARITS

(A) A, RSocr 50050, R, Acioy), 50635
D53 5o

(B) A, RSocir 50apisa. R, A i), 0610
B Tetar)

(C) A, R0 5803089 526

(D) A 0058 R 5063056 o

A-03-02
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Para-Phrasing (46-50)

Read the following Passage and Answer
Q.46 to 50 that follow :

Indian Telephone Industries Ltd.,(ITI) had
a stronger technology to start with which
later developed into Crossbar Telephone
System. This was later changed to
Electronic technology. Jobs created and
people hired when old technologies were
in use, became extinct, obsolete and
redundant. ITI, being a Public Sector
Undertaking, could not retrench its
workers, and were subsequently retrained
and redeployed to supervise the electronic
system now in use. Jobs became highly
technical necessitating hiring of Engineers
who had majored in Electronics. So, ITI
had no use of Engineers with Civil or
Mechanical Engineering as Major. Thus,
[Tl is in a tight spot so far as Shop-Floor
workers are concerned, whose number is
more than the demand for them. Even with
regard to Electronics Engineers, the
Company is not in a comfortable position.
With its existing compensation scheme, ITI

is not in a position to attract talented

people.

21

woogreerts (46-50)

B8 B0 750530050 WOJ T Eo&46-50 5%

QRITHIAK0y

R0G0DS QO aoCéé\J)S ANl (2.63.5.) P0e0S”
2000 JCIDEBE S0B. BEODO 5 &b (O
DESY R DB, BTG oI JoFIE
TOSREBT BT, TG OSBRI
0w el e, DAHAoDS el 5o §
BT, LB, HISTIIT LaITo0. e
©E0S5TON D0 ehesd ST Fohodds
TF008. B0 7O O &0 FANPC TeEE
€ar) DOFTID BEB DEFFoT0eD ISTAOTED.
EEFTo0 ) 2 OSBRI e, T
BB DD oG ACITROBHO 3555
DO, e90¢3050%0 £.63.2.5 2o, os°A8en,
3023000 (FE50 TR RoedIE’ esidiito B
TPO008. T @fé& 35708 H50I0QOVSOBRE,
0 085 ERRIRID TS0 80, ST €206 SO
0.3.00. 505 33 HORAE" HEB. T
ao&5§§o D00 80D SFEE oD o
ROPARRSE” Bed. (59 507 5E008" 25

B0 T ©.63.0. EQoHSEFToR.

A-03-02



46. What is needed to avoid the above
situation for ITI ?
(A) Human Resource Inventory
(B) Human Resource Planning

(C) Human Resource Information

System

(D) All the above

47. Which of the following sub-systems are an
integral part of the MBO Process in ITl ?
(A) Manpower Planning and
Compensation
(B) Manpower Planning and Appraisal
(C) Appraisal and Compensation

(D) All the above

48. Which of the following is a Computerised
data base, containing basic information
about each employee that can be used to
assess the likely availability of individuals
for meeting current and future human
resource needs of ITI ?

(A) Manpower Inventory

(B) Replacement Inventory

(C) HR Inventory

(D) Skills Inventory

Il *x

46. ».e3.0.8 XJ@?\@)@ J00G 20YILIDEILIED
IHVERO[E IS 2
(A) 57755 55500 3eH0e0
(B) 5755 5o Herddsse
(C) 575 S50 SIFTE 5SS
(D) 29550
47. ©.5:2.8° d5.H.e., BE0DH DA grrsaniny,
99658, BIOD TS IO 2
(A) SPE55550 REFOLESEs, HOTESE0
(B) 575595550 Rermddsse, 5000
(C) 20805, HET8E50
(D) 29550
48. 30" (HNG HBATN G IFHS S0
WSIHT R Btined” 5500 &I 8805060,
GO, B8 xS g BRITO500 ot B5%eds
€59 SO gea0eREe G 8500, &8 AIODTIE I 2
(A) 55705%8 gSa0ed
(B) S8R es:9¢3 &0 gon0ead

(C) HR 35200

(D) 233750 353080

A-03-02



49. What is the urgent need for improving the
performance of the employee in his area

of work in ITl ?

(A) Development
(B) Training

(C) Staffing

(D) Appraisal

50. Which of the following processes is
needed to determine the tasks that make
up a job and the skills, abilities and
responsibilities for the employee needs to
accomplish that job in ITI ?

(A) Job Evaluation
(B) Job Description
(C) Job Analysis

(D) Job Specification

49. ©.03.0. 8 85D FoBind” el 850 S

0L HEBE e WBL0H eFHEXBE ?

(A) @853

(B) 3%

(C) 2epobstes

(D) 50809

50. ©.63.0.8° o8 22e5% TR0 0 AFGO20WeDd,
S80I €8 277500 RSHLENO el 00 eSTD,
erFgB OI0 b“;ﬁoc‘g)éajoo [SVERSOEPL ISRV
DEOE 0 B4 MDD TS D HIEaDH eHSEE

(A) el Sorrergosten
(B) exe§ 585e3
(C) exeSg

(D) o2l (58 50000



Space for Rough Work



